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Q:1 Seven people A, B, C, D, E, F, and G are sitting in a
linear row and facing north. A sits third from the right end.
Three people sit between A and F. B sits immediately right
of F. G sits second to the left of E. D doesnt sit at the
end.

Who among the following sits second to the right of B?
1A

2.G

3.F

4.C

Q:2 Seven people B Q, R, S, T, U, and V are sitting in a
linear row and facing north. P sits third from the left end.
V sits second to the right of P. Three people sit between
V and R. Q sits immediately left of T. S doesn' sit near R.
How many people sit between Uand T?

1.2

2.3

3.4

4.1

Q:3 Six people J, K, L, M, N, and O are sitting in a linear
row and facing north. N sits third to the left of M who sits
at the end. K sits third to the right of L who sits
immediately left of J.

Who among the following sits at the left end?

1.L

2.J

3.0

4. M

Q:4 Six people Pinki, Rinki, Hina, Meena, Seema, and
Reena are sitting in a linear row and facing north.
Pinki sits third to the left of Rinki and none of them sits at
the end. Meena sits immediately right of Reena. Seema
sits two places away from Meena.

Who among the following sits the immediate left of Pinki?
1. Rinki

2. Hina

3. Seema

4. Meena

Q:5 Seven people A, B, C, D, T, U, and V are sitting in a
linear row and facing south. B sits fourth to the right of A
who sits second to the right of C. V sits two places away
from U who doesn't sit near A. T sits to the left of D.
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How many people sit between B and T?
1.4
2.3
3.2
4.1

Q:6 Six people M, N, O, P, Q, and R are sitting in a linear
row and facing south. P sits at the left end. O sits three
places away from P. N sits second to the right of O. R sits
immediately left of M.

Who among the following sits immediate left of N?

1M

2. None

3.Q

4.R

Q:7 Eight people L, M, N, O, P Q, R, and S are sitting in a
linear row and facing north. R sits fourth from the left end.
Three people sit between R and N. Q sits adjacent to N.
Four people sit between Q and M. S sits immediately left
of M. O sits immediately right of L.

Who among the following sits at the left end?

1.N

2.8

3.Q

4.R

Q:8 Eight people F, G, H, I, J, K, L, and M are sitting in a
linear row. Some of them are facing north while some of
them are facing south. No two people sitting adjacent are
facing the same direction. G sits third from the right end
and faces south. F sits fourth to the right of G. Only two
people sit between F and J. | sits third to the right of J. M
sits immediate right of H who doesnt face north. L doesn't
sit at the end.

How many people sit between K and L?

1.3

2.4

3.5

4.2

Q:9 Eight people A, B, C, D, L, M, N, and O are sitting in a
double row. A, B, C, and D are facing north while L, M, N,
and O are facing south. A sits second to the right of B who
faces N. Two people sit between N and M. A doesn't face
L while D doesnt sit at the end.

Who among the following faces D?
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Q:10 Ten people F, G, H, |, J, K, L, M, N, and O are sitting in
a double row. F, G, H, |, and J are facing north while K, L,
M, N, and O are facing south. | sits second to the right of
J who faces N and both don't sit at the end. Only two
people sit between N and M. K sits immediate left of O
who doesn't face G and H. G doesn't face M.

Who among the following sits the immediate right of the
one who faces N?

1.H

2.1

3.F

4.G
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lAnswer Key

5. (1)
10. (3)

lAnswers and Solutions

Q:1 The correct answer is Option 2 i.e. G
1. A sits third from the right end.

2. Three people sit hetween Aand F.

3. B sits immediately right of F.

4. G sits second to the left of E.

5. D doesnt sit at the end.

2.
7.(2)

Clearly, G sits second to the right of B.
Hence the correct answer is G.

Q:2 The correct answer is Option 3 i.e. 4
1. P sits third from the left end.

2.V sits second to the right of P

3. Three people sit between V and R.

4. Q sits immediately left of T.

5. S doesn't sit near R.

Clearly, 4 people sit between Uand T.
Hence the correct answer is 4.

Q:3 The correct answer is Option 1i.e.L
1. N sits third to the left of M who sits at the end.

2. K sits third to the right of L who sits immediately left of
J.

Clearly, L sits at the left end.
Hence the correct answer is L.

Q:4 The correct answer is Option 2 i.e. Hina

1. Pinki sits third to the left of Rinki and none of them sits
at the end.
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2. Meena sits immediately right of Reena.
3. Seema sits two places away from Meena.

Clearly, Hina sits the immediate left of Pinki.
Hence the correct answer is Hina.

Q:5 The correct answer is Option 1i.e. 4

1. B sits fourth to the right of A who sits second to the
right of C.

2.V sits two places away from U who doesn't sit near A.
3. T sits to the left of D.

Clearly, 4 people sit between B and T.
Hence the correct answer is 4.

Q:6 The correct answer is Option 3i.e. Q
1. P sits at the left end.

2. O sits three places away from P.

3. N sits second to the right of Q.

4. R sits immediately left of M.

Clearly, Q sits immediately left of N.
Hence the correct answeris Q.

Q:7 The correct answer is Option 2i.e. S
1. R sits fourth from the left end.

2. Three people sit between R and N.

3. Q sits adjacent to N.

4. Four people sit between Q and M.

5. S sits immediately left of M.

6. O sits immediately right of L.

Clearly, S sits at the left end.
Hence the correct answer is S.

Q:8 The correct answer is Option 3i.e. 5
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1. G sits third from the right end and faces south. Clearly, F sits the immediate right of the one who faces N.
2. F sits fourth to the right of G. Hence the correct answeris F.

3. Only two people sit between F and J.

4. | sits third to the right of J.

5. M sits immediately right of H who doesn't face north.
6. L doesn't sit at the end.

Clearly, 5 people sit between K and L.
Hence the correct answer is 5.

Q:9 The correct answer is Option 1i.e. L

1. A sits second to the right of B who faces N.
2. Two people sit between N and M.

3. Adoesn't face L while D doesn't sit at the end.

Clearly, L faces D.
Hence the correct answer is L.

Q:10 The correct answer is Option 3i.e. F

1. | sits second to the right of J who faces N and both
don't sit at the end.

2. Only two people sit between N and M.
3. K sits immediate left of O who doesnt face G and H.
4. G doesnt face M.
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